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Note :
1. Any one of the following areas can be offered :
(1) Elements of Business.
(1i)) Elements of Book-Keeping and Accountancy.
(iit) E-Typewriting (Theory) English or Hindi.
2. For E-Typewriting (Theory) English or Hindi (Max. Time : 2 Hours and Max.
Marks : 30).

(i) Ty o I
(i) Elements of Business
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General Instructions :
(1) This part has 36 questions in all.
(i1) All questions are compulsory.

(iit) Questions from serial number 1 to 16 are Multiple Choice Questions carrying one
mark each. These are to be answered by writing the correct option in your

answer-book.

(iv) Questions from serial number 17 to 26 carry 3 marks each. Answers to such questions

should not exceed 70 words each.

(v) Questions from serial number 27 to 32 carry 4 marks each. Answers to such questions
should not exceed 100 words each.

(vi) Questions from serial number 33 to 36 carry 5§ marks each. Answers to such questions

should not exceed 150 words each.

(vit) Attempt all parts of a question together.

9 GEAT 1 ¥ 16 Tk o U7 Ueh-Ueh 3ich ATl Igfaehedt U9 &1 3MUeht feq g
fashreat # | U wEl fashed A § 3 SHeRT 21Ut St-gfdent § foa g
Questions from S1.No. 1 to 16 are Multiple Choice questions carrying one

mark each. You have to choose one correct option out of the given
options and write the same in your answer-book.

1. 39 SO S S fashdl shal o1 <A1 € I8 Giad wL o fa foh agel iR darsfi 1
FI Y HA ok T 3§ foha 1 FIaM & |, Fed |

() shifee
(@) sfae A

CORCIEERIREISIE!

(F) T8 A FE T

35 3 P.T.O.
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A document issued by the seller to the buyer to inform how much to be paid
for the goods and services supplied is called :

(a) Credit note

(b) Debit note

(¢ Invoice

(d) None of these

50 § HH-91 e fasma afsman 1 T8 § 2

() fo=mofia shdl gR1 &ds &
(@) ohdl BN 3TE (T3 fHer
(1) g I Shal I FSHT

(=) forshar g1 shfee e TN T

Which of the following is not a step in the selling procedure ?

(a) Enquiry by the intending buyer

(b) Receipt of order from the buyer

(¢) Dispatch of goods to the buyer

(d) Preparation of credit note by the seller

M H o BN T forshar IWH a1ftd o Fehdl €
(%) Tt @il =raeen o

(@) ford st Heeen &

(1) SUR fosha ®

(%) s & g T

In case of default in payment the seller can repossess the goods in :
(a) Hire purchase system

(b) Instalment payment system

(¢) Credit sale

(d) None of these



35

o FE Al TS 7S H Sy TS JRdl § 99 Tl & gam fatg g 1

(%) ST W@ H Gl
(@) T3 g @il
(M) faeRur g @l

(9) 9 & FedRl AR ¥ TS

When a person wants to buy goods in bulk, the best mode of purchase for him

will be :

(a) purchase by inspection

(b) purchase by sample

(¢) purchase by description

(d) purchase from the nearest retailer

a8 gl nfafafyar s awgel o Yersll & WA & S ¥ URE &l AR 1
frdfera =t € st ot ® -

(%) %a (Tle) &
(@) g8 %
(1) foraeor &
(%) fasea (s=r) &

All the activities directed towards the flow of goods and services from the

producer to the consumer are part of :

(a)
(b)
©
(d)

Purchasing
Transportation
Distribution

Selling

P.T.O.
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AT T Heh gY o v o o dan ®
(%) fauria ver #

(@) Tk 3iel AR ¥
() R a=R A

(%) #Hie ¥

Buying and selling takes place without any face to face contact in :

(a) Departmental store
(b) Mail order business

(¢) Super Bazar

d) Mall

@ a1 foq & fordlt off 999 @it 9 & fau glagsyes fafy §

(F) gR SR

(@) TEntad foshl 7301

(A1) fa9ria 9sr

(%) @G ghM

To buy goods any time during day or night, a convenient mode 1is :
(@) Super Bazar
(b) Automatic Vending machine

(¢) Departmental store

(d) Multiple shops



10.
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FHEL HT JH AEIH § SR TH AT T H © ¢

(%) A 9

(@) fauria 4er 9

(1) gR 91 9

(%) -7 AU 9

Knowledge of computers is required to buy goods through :
(a) Mall

(b) Departmental store

(¢) Super Bazar
(d) On-line shopping

g T Wl fafie YR &t gHE Tw & v § 3T At ¥, wEd ©
() faumia wer

(@) GG ghM

(1) ik SSR

() 398 9 =€ &

The place where different types of shops are available within one building is

called :

(a) Departmental store
(b) Multiple shops

(¢) Wholesale market
(d) None of the above

Tefteamar e i ®
(%) L& gr

(@) TA®E g/

() AfFTd F9h N
() 3T | &8 T
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12.
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Teleshopping is done through :

(a)
(b)
©
(d)

o [

T.V.
Telephone
Personal visit

None of these

BESINIECH

fEd forsha Yerdd w1() aler(qde) o7

(F) IR T

(@)

feThTee FIA

(M) wfgefirand
(%) 7§ |t

The following is/are the method(s) of sales promotion :

(a) Free samples

(b) Discount coupons

() Contests

(d) All of these

faqTd fawg =1 =\ B §

(F) @ & & A & F M

(@)
(M

3= U aTelt TEE M HET

UT&ehi ohl SART HIE HT

(%) =gl & foswt g

The ultimate objective of personal selling is :

(a)
(b)
©
()

To raise standard of living
Provide better quality products
More satisfaction to customers

Increase sale of products



13. ToRME & goiaeife dieaq § AT ® 1

() AGIR

(W) arel W S
() gee
(9) 9

Electronic Media of advertising include :
(@) Newspaper

(b) Vehicular display

(¢c) Internet

(d) Poster

14. e & fagqom &1 Iugedar gaEfod & &t 1

(%) T G F9E STeH i SE
(@) R H
(TT) 3T9g &R

(9) foum &F a1 fouiy Ues

Suitability of Radio Advertisement does not include :
(@) Need of visual effect

(b) Remote areas

(¢) Illiterate persons

(d) Particular region or specific customer

35 9 P.T.O.



15. e fordl =meEtas T8 g1 U6 99ER 99 § faqme fon smar € @ 9% swam
@

(%) T A
(@) ©UE A

(1) STl W R
() =99 § &5 T

If an advertisement is given in a newspaper by a business house, it is using :
(a) Electronic media

(b) Print media

(¢) Vehicular display

(d) None of these

16. ‘T TS TH W WA’ fosha yadd & 36 Wik h1 IR T
(%) diftem =1 qwd A1 *H
(@) i s
(M) fow fewrmee

(%) & T T

‘Buy one get one free’ is an example of the method of sales promotion :
(a) Premium or free goods

(b) Contests

(¢) Special discounts

(d) Free samples

35 10



17.

18.

19.

20.

21.

22.

23.

35

forsharhal o TRl o 70N a1 Scol@ ohiTwIC | 3

Mention any three qualities of a salesperson.

SCUICHh AT TGS ok YU T A dfed § 2 3

Why do producers distribute free samples of their products ?

g T % Fewl AR HI IRIMG ST ®E < IS0 ST | 3

Define large scale retail trade. Give two examples.

fewhree WR 1 81d 2 3

What are discount stores ?

Tl SARY AN & hIE oI faeiyand srarey | 3

State any three features of Mail Order House.

nNe

arferd foshl 7efA g0 fasea 31 arl forgl ©: a3l & 3erew SIS 3

Give examples of six products that are suitable for sale through Automatic

Vending Machine.

Te fasra IR SuR fawa =1 dfaw o gweme | 3

Explain briefly the term cash sales and credit sales.

11 P.T.O.



24.

25.

26.

27.

28.

29.

30.

35

fectiadt e = ©°2

What 1s delivery note ?

f7deror gR1 T 9 A9 = 9HEd ® 2

What do you mean by purchase by inspection ?

%9 3R famg =1 gRufeg SRS

Define purchase and sale.

TR Elig IR fhed am ugfd # AR & fhsl IR & Tl &l Jary |

State any four major points of difference between Hire Purchase and

Instalment Payment System.

T8 & g Tl &l 9fsha1 ol IHEART |

Explain the procedure of sale through tenders.

TAIfoehl R R? TUF T AV R 2

What is Teleshopping ? What are its benefits ?

URd H Al hi AMRIIII o s IR HRU & |

State any four reasons for the popularity of Malls in India.

12



31.

32.

33.

34.

35.

36.

35

Hferawra foeha ol TRV HiIfST | Teh i 3T9 a1 & Y=k & fau safaad
fasa 1 s=mTe = wT R ?

Define personal selling. Why does a manufacturer use personal selling for

promoting his product ?

3o g foue & oy o HiHd = § 2

What are the advantages and limitations of advertising through internet ?

fawa ¥ 19 =0 guwa €2 fawa # wfafed feaehi &1 sasu)

What do you mean by selling ? State the activities involved in selling a

product.

faumfa Yer IR YEdeg ghHl § q JarEd |

Distinguish between Departmental stores and chain/multiple stores.

fosra Gag= & for=dl o skl 1 IUYF ST Hfgd THERT |

Explain any five methods of sales promotion with suitable examples.

Yadq i Teh dohleh & ®©9 U faqq & Hecd &l 9=l hiSC| 3H ol i
T | @ & 2

Discuss the significance of advertising as a promotion technique. What are

the chief limitations of this technique ?

13 P.T.O.



(ii) TERGTAT qUT AGTh o avd
(ii) Elements of Book-Keeping and Accountancy
HTHT ﬁl??T :
G) 39 9T Y FT 36 T &1
(i) QT 7T 3ifrare &1
(i) F¥7-G& 1 T 18 T% Tgladhedia To7 & it ToaiF Tek 379 #7181 7€ T fasweyl &
T gl faswey H IT-Ylasr G forer &1
(iv) TH J97 & T4 9T TH-T1Y & H3 &/

General Instructions :

(1) This part has 36 questions in all.
(11) All questions are compulsory.

(1it) Questions from serial number 1 to 18 are Multiple Choice Questions carrying one
mark each. These are to be answered by writing the correct option in your
answer-book.

(tv) Attempt all parts of a question together.

W9 WEAT 1 W 18 Teh o W9 Ueh-Teh 3ieh dTcl SEeaehedid Woa 1 3MUeht fau g
fasheul § W Ueh WE fashew ST ¥ 3T SHeht 31Ul STR-Yfeht § o €1
Questions from SL.No. 1 to 18 are Multiple Choice questions carrying

one mark each. You have to choose one correct option out of the
given options and write the same in your answer-book.

1. U fafma o3 & ge1 e €
(h) 2
(@) 4
() 3
(¥) 6

A bill of exchange has parties :

(a)
(b)
©
(d)

S W s~ N

35 14
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eV () o

el afser @1 foaa geqa fovan o ®

) foar e & 999 ™
) foa TR & & 9799 W

(%

(@

(M) foa & FfIR 31 & 999 W

(%) o &1 geisd ad |H

A bill is presented to Notary public :
(a) at the time of drawing the bill

(b) at the time of acceptance of the bill
(c) at the time of dishonour of the bill
(d) at the time of the endorsement of the bill

3R <7 fafy ufsqrer etarerer © @) o9 <9 fafy &nf .

() ermren fe
(@) Tyzen e
(M) =@ fe
(%) T HeM a5 3T aren fod

If due date is a public holiday, the actual due date of the bill will be the :

(a) following day
(b) preceding day
(¢c) same day

(d) day which will come one month later

e ¥ HT W T 5,000 H1 foad fa@n| as 7 39 foa =1 geifera &2 feam)

fo@ 7 38 99 I T3ifehd R fean| foae &1 graeRdt ®©

(&) <"
(@) "
(M) o=
(%) THA

15

P.T.O.



Deepak draws bill on Sandeep for ¥ 5,000. Deepak endorsed it to Vinay. Vinay
endorsed it to Naman. The payee of the bill is :

(a) Deepak
(b) Sandeep
(¢) Vinay
(d) Naman

3ol i€ e &t <o § oy e @ 9 e € -
() WRFFeh S+ SATeT01+ T gofl — 3ifem gaft

(@) 3{d (MfER) i YSil — e — Tl YSil — AR GSil
(M) &id (efER) T Sl + A0 — T Yoil — ARMEH gt
() Swsk | 9 el gohm T

In the case of incomplete records, profit is calculated as follows :

(a) Opening Capital + Drawing + Fresh Capital — Closing Capital
(b) Capital at the end — Drawing — Fresh Capital — Opening capital
(¢) Capital at the end + Drawing — Fresh Capital — Opening capital
(d) None of the above

frefafed & @ fred ool TEisd Rere W@ S &1 eifas dyre €2

oo

(%) ufscter fafes e

o

(@) urzde fafaee &l

(1) Tk Bt g
(9) T ol fauria 4er

In which of the following there is greater possibility of maintenance of
incomplete accounting records ?

(a) Public Limited Co.

(b) Private Ltd. Co.

(¢) A small shop

(d) A large departmental store

16
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0T orEiehd Rhrel @ s o fodta feafa o1 foeror Rk M Fgamar ¢ @ 1
(h) qei o=

(@) T Y18 hi feer]

() feafa faarom (WeHe ATw 3ThaTd)

(%) fa<ita swrEfsam™ &1 faavo

Statement of financial position prepared from incomplete accounting record
1s commonly known as :

(a) Balance sheet

(b) Cash flow statement

() Statement of affairs

(d) Statement of financial operations

TR Hufedl SR qfacl o1 STRfisT U9 A T 10,00,000 3K T 5,00,000 8, 1
@ SR HT yRFEw Yot §

() % 10,00,000

(@) ¥ 5,00,000

(1) % 15,00,000

(9) IR H | I T

If the opening balances of assets and liabilities are ¥ 10,00,000 and X 5,00,000

respectively. Then the opening capital of the business is :
(a) < 10,00,000

() ¥ 5,00,000

(¢ ¥ 15,00,000

(d) None of the above

IS ATH H 1
(%) go o3 B 7l femmn =nfee

(@) o T & 9uid 981 ¥ fq@mn =1fey

(1) qeA T3 | Ushs H ST X <A1 AMM6T

(%) qod o H U § w7 Y S =i

17 P.T.O.



Net profit should :

(a) not be shown in the balance sheet

(b) be shown on the Asset side of the balance sheet
(¢c) be added to cash in the balance sheet

(d) be added to capital in the balance sheet.

10. = fafta o= 1 fe@mn s
() qeH-951 & HHid 987 |
(@) gei-19 & a9 |
() <9 T B @d & AW e o
(%) 9 TE B @I ok S ue |

Bills Receivable will be shown on the :

(a) assets side of the balance sheet

(b) liabilities side of the balance sheet
(c) debit side of the Profit and Loss A/c
(d) credit side of the Profit and Loss Alc

o o

11. Torr forept == w11 ©

Goods remaining unsold is :
(a) an income
(b) an expenditure

(¢c) an asset
(d) a lhability

35 18



12. et erafy o SRA fou U et iR @=! i fegm 9

13.

14.

35

FEd ¢

(k) qoi-9o

(@) e garg faero

() AMR AR &9 FIH @
(%) TEHl T A 1 faero

Financial statement which displays the income and expenses of a business for

a period of time is called :

()
(b)
(©
(d)

Balance sheet
Cash flow statement
Trading and Profit and Loss A/c

Statement of owner’s earnings

ol

= ¥ 9 =R &1 Ui 1 3SR hiA-91 § ?

() TR IR dF =1 I
(@) @eR

(1) AT

(%) wSigl T da

Which one of the following is an example of business asset ?

(a)
(b)
(©)
(d)

Cash and bank balance
Creditors
Drawings

Wages and salaries

1 ¥ @ S 1Y 1 HH HL M2

(%) fordlt M9 01 HF
(@) a9 1 TaE AT

(1) T TSl e

() ST | 9 &hig &

19
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15.

16.

35

Which of the following will reduce the profit ?

(a) purchasing a machine
(b) payment of salary
(¢) introduction of new capital

(d) none of above

e few@md ot © -

() o4 B @d & Sfae &l 3R
(@) oY T @Td o shfee &l 3R
() qe 3 & <l & AR
() q@ 9 & Fafadi & AR

Goodwill is shown on the :

(a) Debit side of Profit and Loss A/c
(b) Credit side of Profit and Loss A/c
(c) Liability side of Balance Sheet
(d) Asset side of Balance Sheet

I < 98 <IdC =it §, fo felem aan @
(F) T&® 91 & i)

(W) g 9| & fiw

() <9 ¥ & A

(%) AR & R e e & HaX
Current liabilities are such obligations which are to be satisfied :
(a) within one year
(b) within 5 years

(¢) within 10 years
(d) within life of the business

20



17. %9 W gAR wrel fe@men s - 1
(%) AUR @id |
(@) @9 & =H T §
(1) qod 93 |
(%) SR @ H R goq o H o
Carriage on purchases will be shown in :
(a) Trading Alc
(b) Profit and Loss Alc

(¢) Balance Sheet
(d) Trading A/c and also in the Balance Sheet

18. oY T @l fo@m ® 1
(%) Hhal A
(@) g§ @9
() emfeden feufa
() @@t & g

Profit and Loss Account shows :

(a) Gross Profit
(b) Net Profit
(¢) Financial Position

(d) Owner’s Capital

19. Tafma o =) = 9 S0 fasivand sard | 3

State any three essential features of bill of exchange.

35 21 P.T.O.



20.

21.

22.

23.

24.

25.

26.

35

= faar iR <9 foar & = 3R TqEu |

Distinguish between bills receivable and bills payable.

foita faeror == B0 €27 3= R 9™ W61 § 2

What are financial statements ? Why are they prepared ?

ThHal A F T? Thal A1 R Y A9 F " FAR FaqE)

What is Gross Profit ? Distinguish between gross profit and net profit.

1 T &I FRO B Tohd & TSen! 918 § Tk AN STq0l RhTe @1 =R ?

What may be the three important reasons due to which a businessman may

like to maintain incomplete records ?

sohedl yfafte gomelt &1 = 21 87 S His g1 fO¥ide SaET |

What is meant by single entry system of book-keeping ? State any two

characteristics of it.

feorfq foeror (Wede 11w oThed) = 8?7 I8 I o™ JIdl § 2

What is statement of affairs ? Why is it prepared ?

frafq foeror (Rede i omherd) dun qoM-v & o= =R & F fog €2

What are the points of difference between Statement of Affairs and Balance
Sheet ?

22



27.

28.

29.

35

fafrma o= =1 aRnfog 81 9 oy = € 2 fafrae o3 & wnfae 9l & 9m
AT |

Define bill of exchange. What are its advantages ? Name the parties involved

in bill of exchange.

g foqa & ol 9 T ety favie & ok # o T8 gEd 9 39 @iy § 3qeh
B SfSid &9 A1 IS TT THAM i TUAT HifST

3
A F YRE I gl 1,20,000
A F Aq wt Yall 2,00,000
g % ofieR foqe gr o et 50,000
g & IR faqa g Hevred! T wH 30,000

From the following information extracted from the records of Mr. Vipul for a

particular period, compute the profit earned or loss incurred by him during

that period :

3
Capital at the beginning of the period 1,20,000
Capital at the end of the period 2,00,000
Capital brought in by Vipul during the period 50,000

Amount withdrawn by Vipul during the period 30,000

3o Rerre T i = adET|

State the disadvantages of keeping incomplete records.

23 P.T.O.



30.

31.

32.

33.

35

@ ¥ T 10 A FT St ¥ FGUR R fRATI I/ T 6,20,000 HT AA FHH
foram 3R 2 5,50,000 T HIGT 9= 1 SR IT9HT T 20,000 3R fasm ama®i T 50,000
Tl 11 ST 9 o1 ot @ ™91 39eht @M 2 2,00,000 & | Fahdd oy a1y |

Swamy started business with a capital of ¥ 10 Lakh. He purchased goods for
3 6,20,000 and sold goods for ¥ 5,50,000. Purchase Returns were ¥ 20,000 and
Sales Returns were ¥ 50,000. The cost of stock remaining unsold was ¥ 2,00,000.
Calculate Gross Profit.

Y TH B @I = BT €2 UH <S9S odiey S 39k Sferd i AR fordt =
Hohdl B qAT Teh TH] TS S 3HF shied i R Tl S gahdl &1

What is Profit and Loss A/c ? Give any two items which may be written on its

debit side and one item which may be written on its credit side.

HE =R TRl Hufadl o) & IR sl wufadl & W fad |

Name any four fixed assets and any four current assets.

1.3.2015 ! fooAR & &t 37cq Gahrer 3 geiret &, =8 fooett & 4t fovm fag ==t
% 45,000 1 91 o= o fovm 98 9 2 5,000 g fSU 91 39 UM & foe T
T A 1 foret TR X & T TS & T o oIcd 9ol g1 of faaAtds

~

TR fog M ot fod 1 sAEY |

Shri Atma Prakash of Bijnore sold goods to Shri Bishen Singh of Punjabi

Bagh, New Delhi for ¥ 45,000 on 1.3.2015. Shri Bishen Singh paid ¥ 5,000 in
cash and agreed to accept a Bill for three months for the balance amount.
Prepare a Bill to be drawn by Shri Atma Prakash on Shri Bishen Singh.

24



34. Trfafea = 4 31 fGo=R, 2014 1 99« 4 a1t 99 & fa¢ =R @ 6
FIMH-AT @M TR HIT

Z
ER 3,00,000
IEER 5,00,000
ERECIEE 14,400
fasra amast 10,600
TA Td HIel 2,900
1-1-2014 1 ViHh 24,700
HETS) 25,000
Eitry 10,000
FHEE = 43,600
el 1,20,000
ECA] 7,400
T YT i 5,000
31-12-14 &l Eis 32,600

From the following information prepare Trading and Profit and Loss Account

for the year ending on 315t December, 2014.

4
Purchases 3,00,000
Sales 5,00,000
Purchase Returns 14,400
Sales Returns 10,600
Freight and Carriage 2,900
Stock on 1-1-2014 24,700
Cash 25,000
Furniture 10,000
Office Expenses 43,600
Salary 1,20,000
Discount allowed 7,400
Discount received 5,000
Stock on 31-12-14 32,600
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35. T AR & 31 fegmR 2014 #1 G9R fow 7T o9 ¥ < T 9 S99

35

IH%h AU H JeH-T3 (IR ST

4
LETS) 10,000
% IER 80,000
% TSR 2,000
EED 1,70,000
T teR 35,000
TSt 3,00,000
3T 17,000

31 fe@oR 2014 =1 VlF T 65,000 HT 91 3R I8 & SR T 75,000 FHT 149 3TfSd
g |

Prepare the Balance Sheet of a trader from the following information taken

from his trial balance prepared on 315t December, 2014.

3
Cash 10,000
Total Debtors 80,000
Total Creditors 2,000
Bank 1,70,000
Furniture 35,000
Capital 3,00,000
Drawings 17,000

The stock on 315t Dec. 2014 was of T 65,000 and the profit of ¥ 75,000 was
earned during the year.
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36. 1 3T9d, 2014 FI 4 9T YHRT 3 T 1,00,000 HT Ysil AR FIAE AR fopan) 6
IR I o geh-hi1an w1 fg-gfafie yumeft & oER 78 W a9 & IRE
IR T 34,000 T SAfafkad It eE | IR T 2,000 T HIE ST AT STAR
% fau et | 31 9, 2015 1 3! GHfaal T8 efae 4 9aR 9 .

4
Tl AR 1,80,000
ieh 49,500
% TTER 2,51,200
S ¥ Ui 49,960

31 |, 2015 1 fearfa faaror (wede 3w That) iR o & fau oy &1 <9
o1 faeror TR wifsw

Mr. Ved Prakash started his business on April 1, 2014 with a capital of

% 1,00,000. He did not maintain his books according to double entry system
of book-keeping. During the year he introduced additional capital of ¥ 34,000.
He withdrew ¥ 2,000 per month for personal use. On March 31, 2015 his assets
and liabilities were as follows :

3

Total Creditors 1,80,000

Stock 49,500
Total Debtors 2,561,200
Cash at Bank 49,960

Prepare statement of affairs as on 315t March, 2015 and a statement showing
profit for the year.
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(iii) 3-<erur ( fagr= ) Stash fa<t

(iii) E-Typewriting (Theory) English/Hindi

TIHT=T 7597 :
G) 39 YT H FT15 T &1

(i) WY FvT fFard &1

(i) F97-G&T 1 T 6 a% 3 J97 agd DI I a1 & 3R JoiF J97 Uk 3 FT &1

(iv) FoT-G&T 7 G 12 TF Fo9F J972 3H & &1 39% I B2 817 =Ny 3R 60 5
T G fyeE & Tel g7 =ey

(v) F¥T-TE&I 13 T 15 T JAF F97 4 Hl F7 &1 37 94 & ST 100 I F9F G
e @ T8l &l FMeq !

General Instructions :

(1) This part has 15 questions in all.

(i1)) All questions are compulsory.

(1it) Questions from serial no. 1 to 6 are very short answer questions and each question

carries one mark.

(iv) Questions from serial no. 7 to 12 carry 2 marks each. Answers to such questions

should not exceed 60 words each.

(v) Questions from serial no. 13 to 15 carry 4 marks each. Answers to such questions

should not exceed 100 words each.
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1. eyl # el 2 1

What is a Spread Sheet ?

9. fewice TaRTHe &1 w1 7o 72 1

What is meant by Default Alignment ?

3. TEOQ 1B € ? 1

What is a manuscript ?

4. Y% GINEA w1 F A 72 1

What is meant by Proof Correction ?

5. <RUUSET H A i TOHAT X THT fohad TR (W) 61 Tk Tk & a1
HET ST § 2

How many strokes are counted as one word while calculating the speed in

typewriting ?

6. TEWEfET @ w3 fafy @ et ®? 1

What is Touch Method of Typewriting ?

7. TH THA § ¥F hY fa@d €7 1075 AR 569 & SIS U@ A & fa¢ g 2
fafEw |

How do we write a Formula in Excel ? Write a Formula to get the total of 1075
and 569 ?
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10.

11.

12.

13.

35

T fhg FEd €7 TH R AH A B 2

What is known as Range ? How is it named ?

TEERET | W IR W Hl W 9l 9R Tafaal sSaRy |

Point our four errors commonly committed in typewriting.

"= Tifd W forT gadt w1 A TR R AT’ R0 9d §T IH HYUA h GHA

ISy |

“Accuracy should not be sacrificed for high speed”. Support this statement

giving reasons.

% Geie fog 91 2 €2 1 U Rfine @l 3% ST otavas § 7 3 fud
T JAM HH G P AT T2

What are proof correction signs ? Is it necessary for a typist to know them ?

What are the advantages of using these signs ?

TR Teh BAE 28T H & foau feom man 81 <sfym oy w3 9 98t 31y
FT HT?

You are given a manuscript for typing. What will you do before starting the

work of typewriting ?

T ISTeX01 <l HerIdl § FaEt foh TrwEfen # 3rg fa &t 7o fea ga6Rr ot
STt ® 2

Explain with the help of an example as to how is net speed in typewriting

calculated.
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14. F=fafad qw ey fa@i & 319 dary .

15.

35

M <

@) //

(i) d/

(1v) stet

(v) trs

(vi) Ctr
(vil) run on
(viii) &)/
Give the meaning of the below given proof correction signs given below :
o Z
@ //
(i) d/
(1v) stet
(v) trs
(vi) Ctr

(vil) run on

(viii) @&/

TRl § e qUT ST &1 Bl © 2 S0 SIfST |

What are Constant and Data in Excel ? Give examples.
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